Enrollment No: Exam Seat No:

C.U. SHAH UNIVERSITY
Winter Examination-2019

Subject Name: Quantity Surveying and Estimating

Subject Code: 2TE04QSE1 Branch: Diploma (Civil)

Semester: 4 Date: 24/09/2019 Time: 02:30 To 05:30 Marks: 70

Instructions:

(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.

(3) Draw neat diagrams and figures (if necessary) at right places.

(4) Assume suitable data if needed.

Q-1

Attempt the following questions:
The unit of measurement for concrete work in RCC is in

(@) Sg.m (b) Cu.m (c) 10 Sq.m (d) 10 Cu.m

The process of evaluating cost of construction of a project is called

(a) estimate (b) rough estimate (c) actual cost (d) workable cost

A revised estimate is prepared if the sanctioned estimate exceeds

(@) 2% (b) 5% (c) 8% (d) 10%

The ratio of cost of labor to the total cost of the building is

(@) 1:10 (b) 1:4 (c) 1:1 (d) 6:10

In specification of earth work in foundation trenches, drain etc. lift ordinarily
specified is

(@) 30m (b) 1.5m (c) 5m (d) 3m

While mixing cement mortar by volume, the volume of a cement bag is
specified as

(@) 50 liters (b) 35 liters (c) 0.050 cu.m (d) 0.35 cu.m

Number of bricks usually carried by a truck is

(a) 2000 (b) 4000 (c) 4500 (d) 5000

In analysis of rate, the quantity of dry mortar for 10 cubic meter

(@) 5 cu.m (b) 3cu.m(c) 0.3 cu.m (d) 10 Cu.m

Thickness of plastering is usually

(@) 6 mm (b) 12 mm (c) 25 mm (d) 40 mm

One cubic meter of mild steel weighs about

(a) 1000 kg (b) 3625 kg (c) 7850 kg (d) 12560 kg

While doing analysis of rate, the number of brick taken into account per cubic
meter is
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(a) 2000 (b) 500 (c) 100 (d) 50

The expected outturn of cement concrete 1:2:4 per mason per day is
(@ 1.5cum (b) 2.5cu.m(c) 4 cu.m (d) 5cum

In analysis of rates, contractor profit is taken at the rate of

(@) 1% (b) 5% (c) 10% d) 20%

In measuring form work no deduction is made for opening upto
(@) 1 Sg.m (b) 0.5 Sg.m (c) 0.4 Sg.m (d) 0.01 Sg.m

Attempt any four questions from Q-2 to Q-8

Attempt all questions

Explain the deduction rule for brickwork.

Calculate the following:

1) No. of bricks required for 1cu.m. Brick work.

2) Material for 100 m?, 1:3, 20 mm thick plaster

Attempt all questions

Explain centerline method.

Write detailed specifications for excavation in foundation.
Attempt all questions

Find out the quantities of the following items for the fig.

(i) Masonry work for the wing walls.

(i) Pointing work on exposed surface.
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b)  Write detailed specifications for RCC work.

Attempt all questions

a) Give rate of BBCC in foundation (1:5:10) for10 m®.
b)  Figure shows an RCC lintel and weather shed (chajja) for a 1.2 m wide
window. Calculate the quantities of the following items.
(a) RCC for lintel and chajja
(b) Centering for lintel and chajja
(c) Quantity of cement, sand and aggregate

6mm@—200MM C/d

BRICK WALL

Q-6

150mm

7

\

10mmg—4NOS

8mm@#—150MM C/C

6mmg—150MM C/C

600mm l

IN

300mm

Attempt all questions

a) Figure shows a pipe culvert. Calculate the following quantities in standard

format.

(a) Excavation in soft rock.

(b) Masonry in abutment in C.M. 1.6
(c) Cement concrete in foundation and barrel concrete
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b)  What are the reasons of exceeding the actual cost to estimated cost? 7
Q-7 Attempt all questions (14)
a) Figure shows the details of an RCC beam. Calculate the following quantities. 7
1) Total quantity of steel bars.
2) Quantity of concrete work.
16mm.g
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L AL doA L
b)  Explain the principles of writing specification. 7
Q-8
The Plan of a residential building is shown in Figure shown below: 14

Calculate quantity of following items in a quantity sheet. Adopt suitable brief
specifications.

1.Excavation in foundation

2. B.B.C.C. (1:3:6) in foundation.

3.First class brick work in foundation and plinth in cement mortar 1:6

4.5 cm thick Damp proof course.

5. Earth filling in Plinth.
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Q-1

Attempt the following questions:
R sl(520ll S1H HZell HIUoto] AsH WER B

@) AL (o) sl (1) 10 AL (81) 10 sy L.
UBseoll Auigetl el Yealiset salell ulsal sdai 2ud 8
(a) viEly (o) 2% ely (c) drrdlds Wl (d) catasly Wl

ol HoR sA el Al M A YURA Vel dAR scUHl WA B
(a) 2% (b) 5% (c) 8% (d) 10%
Uslotoll e (U M2 HoRell (ol 9JRldR &

() 1:10 (oll) 1:4 () 1:1(31) 6:10

$1God 2ol WLES, 38501 cLORHL WILELRLoLL SLHoll RUNLSQUHL, AlHLeA 3lA
e s ([Age B

@A) 30 Hl (ofl) 1.5l ) 54 () 31

ARH 4Rl RNz H2lRef M8l sl avtd, RNz Adle Al A 313
W UAA B

(a) 50 [@QeR (b) 35 (@2 (c) 0.050 cu.m (d) 0.35 cu.m

B2l Avall AHLA A 25 glrl QAcltHl WA B

() 2000 (¢{l) 4000 (1) 4500 (1) 5000

g0ll (Q2AuEIHE, 10 sylals HleR W2 s HelReg Yl
(@) 5 cu.m (b) 3 cu.m (c) 0.3 cu.m (d) 10 Cu.m
RRolell oststeS AHoad A gl &

@) 6 HH{l (ell) 12 {1l ({1 25 Hla L (1) 40 {1l
As (s Hl22 ¥ldej dxet cddatelol
) 1000 (3ot (ell) 3625 (3ou (ML) 7850 (Sau (1) 12560 (Sau
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Q-2

Q-3

Q-4

€9 (A2AMEL 5l aulq, det Hl2R €ls taulotdl AauHl uadl deell
AuAl B
) 2000 (¢{l) 500 () 100 (S1) 50

€A% AURLAR €ls RNee 5152 1:2: 4 ofl (A MBeeal B

(@) 1.5 cu.m (b) 2.5 cu.m (c) 4 cu.m (d) 5 cu.m
o1l (A2AMBIHE, BFER olfl €3 QM AA B

(a) 1% (b) 5% (c) 10% d) 20%
Sloll siHoll SLHHE, WAl HR2 S8 sUld sRallHl ataldl «tell
(a) 1 ALHL (ell) 0.5 ALHL () 0.4 ALHL (1) 0.01 ALHL.

Attempt any four questions from Q-2 to Q-8
Attempt all questions
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